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UGC NET 2021 Political Science Shift 2

Topic:- GP_Set6_A

) The following table embodies the details about the production and profit of two items I and IT
by seven different companies A-G. Cost of the total production of both items together by
zeven companies 13 Rs. 25 crores. Bazed on the data in the table. answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Itemsa I and IT Earned for
Ttems T Ttems 11
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% 1l 30% 24%
F=itFa ATt 1 51 g HA 1 A0 11 1 316 o370 FEHa A — G g1 307ed Ud =74 H1 == 2 |

T FEEAT GRT SHT SR % U WY 30T Fel A0 % 25 S 2 | alfern ° {50 T wwst %o
HTHE 9T Y99 ® 39 St |

=i TraTEA (%) | T 7T A i FEAE

Y g1 | mmI
A 15% 248 25% 20%
B 11% 352 32% 35%
C 22% 4:1 20% 22%
D 08% 257 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

Cost of production of item I by company F 1s what percent (%) of the cost of production of
item II by company D?

(1) 16% (2) 66.67%
(3) 33.33% 4) 20%

Fo1 F grl o5 1 % 3e9ied =i oera 61 afqeear 00 D g a5 11 % Se9res =i =Fa 61 gomn |

(1) 16% (2) 66.67%
(3) 33.33% (4) 20%

[Question ID = 4899][Question Description = Q01_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19059]
2. 2 [Option ID = 19060]
3. 3 [Option ID = 19061]
4. 4 [Option ID = 19062]

2) The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 13 Rs. 25 crores. Based on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit

Production Items I and I1 Earned for




Ttems T Ttems 1T
A 15% 2.3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% b:3 28% 30%
F 05% 1:4 35% 25%
G 12% 2 30% 24%

e e | 21 Fgen 1 31 11 1 30 7o - Ao Fea A — GQWW‘F’?WW‘-F{&EITW""I
T FOIET GAT TH1 TG F UF WY A I F A0 525 S 7 | AR ° 58 T st
HTHT 9 Y I A |

FOHT | FA I FHIEag I | 7\ = $ aieema
=1 IHTIEAT (%) | % 9T IeAEA A

2 Fg1 | g
A 15% 2473 25% 20%
B 11% 38 32% 35%
C 22% 4:1 20% 22%
D 08% 816 15% 25%
E 27% 53 28% 30%
F 05% 1:4 35% 25%
G 12% | i 30% 24%

What is the total profit earned by company G for items I and II together?
(1) 78 Lakhs (2)  ¥1.62 crores
(3) {7.8 croves (4) F16.2 Lakhs

a5 [ o 9%g 11 241 & o o @9 00t G o g S @ oy e 27

(1) %, T8 HE 2y % 16270
(3) ¥ 71.8%s (4) ¥ 16.2 %03

[Question ID = 4900][Question Description = Q02_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19063]
2. 2 [Option ID = 19064]
3. 3 [Option ID = 19065]
4. 4 [Option ID = 19066]

3 The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total Ratio of production between Percent (%) Profit
Production [tema I and IT Earned for
Items I Items II

A 15% 2:3 25% 20%
B 119 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:h 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%

m{maﬂmﬁuﬂaﬁmlﬂvllﬁmm S T A — Ggm—r'wqﬂmfmharm'—*l
AT FEA GR 2 TG TE =Y I i Fe e % 25 FAS 2 | Aol § 20 T AT &
HTYR T U7 I |



R R e o e I T . K e - W o

FoET | FA IoaEA T IEag I | | =y $ afeeaa
=i TraTEA (%) | T 7T A i FEAE

: 1 | Il
A 15% 248 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 29%
D 08% S 15% 25%
E 27% §:03 28% 30%
F 05% 1:4 35% 25%
G 12% eyl 30% 24%

What is the ratio of the cost of production of item I by company A to the cost of production of
item I by company D?

(1) 3:0 (2)
(3) i (i | (4)

2

01
i

[

FIT A g1 T 1% 3eared 1 S0 3wt D g a5 19 SeIe il A R WIS S 4 2

& 2x1

(1) 3:56
3:1 (4)

(3)

[Question ID = 4901][Question Description = Q03_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19067]
2. 2 [Option ID = 19068]
3. 3 [Option ID = 19069]
4. 4 [Option ID = 19070]

4)  The following table embodies the details about the production and profit of two items I and II

by seven different companies A-G. Cost of the total production of both items together by
seven companies 1s Rs. 25 crores. Bazed on the data in the table, answer the question

Company — wise Production and profit details

Company | Percentage (%) of Total | Ratio of production between Percent (%) Profit
Production Ttemsz I and IT Earned for
Items I Items II
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:hH 15% 25%
E 27% 5:3 28% 30%
F 05% 1:4 35% 25%
G 12% i 30% 24%
i ATferht § 21 I 1 300 11 =1 T1a 37eT- 3o Fea A — G G a0 vd oy i fae 2
AT FEA GRT 2 T TE |1 I i Fe @0E . 25 FAS B | At J 20 T oAmest o
IR 9T T9T 1 I i |
FoHI | F I Fglvdaeg I | o =y 1 e
1 W9t (%) | F AT ITeqET F A gl | it
A 15% 255 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% 5:3 28% 309
F 05% 1:4 35% 25%
G 12% | {E 30% 24%

What 1s the sum total of the profit earned by company B on production of item I and the
profit earned by company A on the production of item II?



(1) % 9.78 Crores (2) ¥ 97.8 Lakhs
(3) ¥ 52.8 Lakhs 4) ¥ 30.65 Lakhs

et B AT =% 1 ScaigA @ REIC AT W09 S0 el A g awg 11 % SeE @ HEI o e

(1) & 9.78 ®s (2) % 97.8 @@
(3) =% 52.8@w@ (4) % 30.65 @@

[Question ID = 4902][Question Description = Q04_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19071]
2. 2 [Option ID = 19072]
3. 3 [Option ID = 19073]
4. 4 [Option ID = 19074]

5 The following table embodies the details about the production and profit of two items I and IT

by seven different companies A-G. Cost of the total production of both items together by
seven companies is Rs. 25 crores. Bazed on the data in the table, answer the guestion

Company — wise Production and profit details

Company | Percentage (%} of Total | Ratio of production between Percent (%) Profit
Production Items I and IT Earned for
Ttems T Ttems 1T
A 15% 2:3 25% 20%
B 11% 3:2 32% 35%
C 22% 4:1 20% 22%
D 08% 3:5 15% 25%
E 27% b3 28% 30%
F 05% 1:4 35% 25%
G 12% 10 30% 24%
fAifera atterht | 51 awgal [ A0 11 %1 916 HeT-Ae FEa A — G geT 309157 U o1 1 f5aw 2 |

T FEAT GRS SEGHT ® UF HIY S5 S B 0 % 25 FS B | aletdl J 150 T sl b
HTHR 9 Y99 =1 30T 10 |

FOAET 3eqEd 3T AT H HE:

FEET | F A T Ivd 7 11 ITH =19 S Tfaere
F1 afaeradt (%) | & We eued B FAIIE

2 Fgl | =g 1l
A 15% 2423 25% 20%
B 11% 3:2 32% 35%
G 22% 4:1 20% 22%
D 08% 8316 15% 25%
E 27% 5:3 28% 30%
B 05% 1:4 35% 25%
G 12% 132 30% 24%

What iz the sum total of the cost of production of item I by company A and the cost of
production of item II by company B?

(1) 2.6 Crores (2) 26 Lakhs
3 3.35 Crores (4) 33.65 Lakhs

Foot A g1 g 1% 3o i A S wet B g 95 11 F Soures i A F e Fie e
uf g ?

(1) = 2.6 %% (2) % 26 =@ma
(3) % 3.35 %% (4) % 33.65 @@

[Question ID = 4903][Question Description = Q05_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19075]
2. 2 [Option ID = 19076]
3. 3 [Option ID = 19077]
4. 4 [Option ID = 19078]



Topic:- GP_Set6_B

1) In which level of teaching ‘Seeing of relationship’ is promoted as an objective?
(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level

forgm = o T W Al W gEwE W 32 % B9 R O R e e e

(1)  ff - =m (2) FEy - T
(3 Tamefi - o - = (4) == - HEm -

[Question ID = 4904][Question Description = Q06_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19079]
2. 2 [Option ID = 19080]
3. 3 [Option ID = 19081]
4. 4 [Option ID = 19082]

2) Identify from the following spectrum of teaching methods which are called ‘dialogic’.

(A) Team teaching and demonstration.

(B) Tutorials and case studies

(C) Group discussions and interactive presentation
(D)  Simulation and role playing

(E) Computer Alded instruction and Practical tasks

Choose the correct answer from the options given below :
(1) (A) and (C) only (2) (B)and (D) only
(3) (B) and (C) only (4) (D) and (E) only
o e o S St T B R e B 2, T T
(&)  Toem-zw vd wEEe
(B) e va =afFq seaEa
(C)  @|MiEs ==l vd S -
(D)  =FEYal w3 i e

(E)  =F2 @ET=ad FAS9H U SRk w1

= f2u o el °§ ® wE 3 T =9 i
(1) A (A) 37 (C) (2) #=4 (B) 3R (D)

(3) == (B) 3k (O) (4) Hae (D) R (E)

[Question ID = 4905][Question Description = Q07_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19083]
2. 2 [Option ID = 19084]
3. 3 [Option ID = 19085]
4. 4 [Option ID = 19086]

3)  Match List I with List IT
List I List IT
Key behaviours contributing to effective Descriptive fetures
teaching

{A) Less=on clarity (I)  Frequency with which
understand and correctly
exercises

(B) Instructional Variety (I) The amount of time students devote 1n

learning in the clazsroom

(C) Engagement in learning process (III) Teacher's flexibility of the delivery
during the presentation of a leszon



(D) Student success rate (IV) Direct, audible oral delivery to
students

Choose the correct answer from the optlons given below :

(1) (A)-IV). (B)-(I). (C)-(ID), (D)-D)
@ (A)-). (B)-AD. (C)-AID). (D)-IV)
(3) (A)-(IT). (B)-(I). (C)-@V), (D)-(IIT)
@) (A)-II). B)-AV). (C)-(D. (D)-AD

-1 =g =11 1 e Fife -
=11 THI-1II

(A) T3 - TIE (D 3E F ¥EEeT F g vE SF W
FASATH] F1 TA qH ° g H

(B) wcm-dfFe (I) =& & WE g HAtE 2 FEmEs s

(C) Toreaon wisran # @Afefed (II) Ta-wedla =i sEta | foas & aeg-meh
=il T

(D) BA - TFaal - T (IV) =i feenferar =1 e, y=ufia Gifes am=-
T

i T T TR § H HE S = i
1) (A)-(IV), (B)-(IID), (C)-(ID). (D)-(I)
() (A)-(D. (B)-(ID. (C)-(III). (D)-IV)
(3 (A)-(II), (B)-(I). (C)-(TV). (D)-(IIT)
(4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IIy

[Question ID = 4906][Question Description = Q08_GP_22NOV_S2_SHAAN]

all

1. 1 [Option ID = 19087]
2. 2 [Option ID = 19088]
3. 3 [Option ID = 19089]
4. 4 [Option ID = 19090]

4)

=

Given below are two statements :

Statement I: Promoting classroom dialogue that encourages students to examine

alternatives 1s an example of direct instruction.

Statement II : Probing refers to teacher statements that encourage students to elaborate an

answer.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s true but Statement II 1s falze

(4) Statement I 1= false but Statement II is true

3 7 YA e T E

H ([):  BET I faweul =1 giiae #H % oo SetEd F g w91 A IeAy 29w U

EH L % |



FoA (ID) :  TZaTS 1 s G 1, DTl B S0 YHoE I 4 o Seaned H A w9 § |

SUTRE 94 = A H, A9 5 T ool # ° HE 39 1 =9 hifew

(1) =wEFIARIIZA a3 2 |

(2) wyg I3k 1124 @ B |

(8)  FuA [HeF 7, wifw %o I 3@ 7 |

(4) =¥ I 3G 2, s %y Lo 2 |

[Question ID = 4907][Question Description = Q09_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19091]
2. 2 [Option ID = 19092]
3. 3 [Option ID = 19093]
4. 4 [Option ID = 19094]

3) Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) :

Reasons (R) :

Innovations in evaluation system have to amply safeguard the reliability

and validity 1ssues of tools used.

The very purpose of evaluation is frustrated. if the evaluation tools do not

meet the requirements of reliability and validity.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(D Both (A) and (R) are correct and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

) (A) 15 not correct but (R) 1s correct

4= 7 #o feu o 2 - us AfhweE (Assertion A) % ®=u H fafiga 2 A FETFEHTH F10 (Reason R) &

'5'3[;:[

ATTFIT (A)

FE (R) :

AT - AT, T ST EvaeeEar o duar gt e oo

T G AT E |

qemEA e & S R, W e meAn favanEEar o duar # smane i
gfd 781 #d 2 |

S F9E F AeE 9, {9 e fTwew 4 @ wed 39ET I H =94 Fifa

(1) (AR [R)

(2)  (A) = (R)

ZME1 TEr B 3 (R). (A) i GEl = B |

(3) (A =E 2 = (R) 781 78 2 |

4 (A) =t 7751

2 it (R) @21 21



[Question ID = 4908][Question Description = Q10_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19095]
2. 2 [Option ID = 19096]
3. 3 [Option ID = 19097]
4. 4 [Option ID = 19098]

6) In which of the following research methods, process of hypothesis testing optimally

safeguards the role of extraneous variables?

(1) Expost Facto method (2) Experimental method
(3) Hiztorical method (4) Descriptive survey method

= & w ma-fafamt § 9 wf fafa ofeer wew 9t seew =1 " T =91 A gfew w0 gl
Ezci A

(1)  ®Ew - JoE (2)  vETTeRF-Taf
(3)  UfemEs-fata @) farmem-Tdem-fafa

[Question ID = 4909][Question Description = Q11_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19099]
2. 2 [Option ID = 19100]
3. 3 [Option ID = 19101]
4. 4 [Option ID = 19102]

7) Which of the following belong to the category of true experimental design?

(A) One group pre test post test design

(B) Two groups randomized subjects post test only design
(C) Two groups static designs

(D) Randomized groups pre test post test design

(E) One group time series design

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only
(3) (B) and (D) only (4) (D) and (E) only

9§ 9 F1 Ieaas 9EiE Afawed T § aeeg e f

(A) T T TR e

(B) Tmgdm a=gia famm wfamr sae afumer

(C) Temel for sifvwern

(D)  =E=SEa THE e e Afewer

(E) v W5 W99 4giEen AHer

= f2u MU fame 5/ wE 3w = i

(1) === (A) R (B) (2) &= (B) 277 (C)
(3) === (B) 3 (D) (4) F== (D) #i (E)

[Question ID = 4910][Question Description = Q12_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19103]
2. 2 [Option ID = 19104]
3. 3 [Option ID = 19105]
4. 4 [Option ID = 19106]

8) Match List I-with List IT

ListI List I1

Steps of rezearch Precautions needed



(A) Problem formulation {I) Appropriateness of techniques used

(B) Hypothesis making (I)  Ensuring internal validity optimally

(C) Research design (ITII) Unambiguous labelling of wvariables
being related

(D) Data analysis (IV) Focused issues In terms evidences

Choose the correct answer from the options given below :

1) (A)-AD. (B)-D). (C)-AV). (D)-(IID)
@ (@-O. (B-AD, (C)-AID. (D)-(IV)
(3)  (A)-AV). (B)-(IID), (C)-(II), (D)-(D)
@  (A)-(ID. B)-AV). (C)-(D), (D)-AD

-1 % |y ge=Ai-11 1 faem ifae -

-1 FH-I1
MY = = ATITTF AT ETE
(A)  TFE e @ I o T A IegeE
(B) di=wewT s (1) ==t duar 61 sean gHivEad
(C) =g g (I11) FHeafa =1 =0 SFHEry A
(D) =Zz-Tagem (IV) =%9-92] 97 a4

= T2 U w6 H E Ie w1 =5 i
(1) (A)-(IT). (B)-(I). (C)-(IV), (D)-(III)
(2) (A)-(I), (B)-(1I). (C)-(1II), (D)-(IV)
3)  (A)-IV). B)-(III). (C)-(II), (D)-(I)
(4)  (A)-IID). (B)-(IV). (C)-(D), (D)-(ID)

[Question ID = 4911][Question Description = Q13_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19107]
2. 2 [Option ID = 19108]
3. 3 [Option ID = 19109]
4. 4 [Option ID = 19110]

9)  Given below are two statements :

Statement I: Use of ICT in research 1s a super imposition which should be discouraged.

Statement II : Research ethics and its ohservance has to be a mandatory requirement.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I 1z false but Statement II 1= true



A= g YA U Y §

FoA (1): g § o =113, = = v aemnEn # e wdeteEd e s aien

Fo (I1) :  SHear -9 310 SaH S99 U A ATyl # |

IUIE HYA * A |, e e T e 9 g oE 3 = = fif
(1) &% I #AR 2 5ea 3 |

(2)  wE IR I sEea E |

(3)  wuA 15T 2, wifeed e [ 38T 7 |

(4) w99 I A6 2, cifed =99 [LOeg 2|

[Question ID = 4912][Question Description = Q14_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19111]
2. 2 [Option ID = 19112]
3. 3 [Option ID = 19113]
4. 4 [Option ID = 19114]

10) " Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : Format and styles of referencing in a research thesizs are formal
requirements.

Reasons (R) : Formal requirements and their obzervance help promote standardization

and objectivity.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) 1z false

(4) (A) 1s falze but (R) 1s true

4 3 A few m #

ST (A) FEETH Ag-TE H SEEY Ud Sl 1 aed SigEi sEeEean | |
R (R) e e o e e o e Ll e v M B e e e st s e o

TEmE faed 2 |
IUCRE YA F AT 6, A B T Reeeni 8 © =El I o = i
(1) (A) &R (R) I =t § AT (R), (A) F1 781 =0 2 |
(2) (A 3R (R) IF TET 2 =it (R). (A) i T8t =T 785 7 |
(3) (AT 2 FEA (R =E R
@) (AT FE & = (R) TE R

[Question ID = 4913][Question Description = Q15_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19115]
2. 2 [Option ID = 19116]
3. 3 [Option ID = 19117]
4. 4 [Option ID = 19118]



") When the attitude of the communication towards self is positive but towards others it 1s

negative, the communicator is said to be

(1) Self confident (2) Lacking in self confidence and
authenticity
(3) Self-conceited (4) Communicating without confidence and

without optimism

8 T B =GdEn 9 % Uid GHWcH® Ud 37 & Uid TR 2 a1 3° ®aEd 2

(1) ATeRtaTaTE (2) TeatavaTE UE TTEIEAT 9 S
(3) AT (4) TavameF v SAemEEEd gar

[Question ID = 4914][Question Description = Q16_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19119]
2. 2 [Option ID = 19120]
3. 3 [Option ID = 19121]
4. 4 [Option ID = 19122]
12)  If the action desived in the message is satisfactorily performed or the information is
faithfully received. it is said that,
(1) Communication loop has been closed (2) Communication has just begun
(3) Communication is successful (4) Communication process 1s smooth
= . - c - - r 3 ) - r fal ™ o W, R,
ST HEIIHAR U HATY0 27 T A 1 O 51 7 a9 A gEA AvamEga s S 7 9w
34 FEd 2
(D w&w - i = = g (2) wEw e T A e 2
(8) w2 (4) Ham-hean fata 2

[Question ID = 4915][Question Description = Q17_GP_22NOV_S2_SHAAN]
1 [Option ID = 19123]
2 [Option ID = 19124]
3 [Option ID = 19125]
4 [Option ID = 19126]

AW N =

1 iE
3) Given below are two statements :

Statement I: Soclety plays a key part in the shaping of communication process.

Statement II : Communication 1s concerned with the production, distribution and formation
of public knowledge in soclety.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II iz correct

FY ([): TS, TATE THRAT o AT H B gEA Y w1 e e

wo (I) : e TE 8 TEn-TE -t % I e @ dien gt 2

ST F9F & At F, f 2w et 4 o wsg sugw s w v it
(1) = IaR 129 581 2 |
(2)  FA IR I3 e & |

(3) == IEE 2, wk e 10 7o 2 |

- - W
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[Question ID = 4916][Question Description = Q18_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19127]
2. 2 [Option ID = 19128]
3. 3 [Option ID = 19129]
4. 4 [Option ID = 19130]

14) ‘Many Voices, one world : Communication and Society :

Today and Tomorrow (UNESCO), known as the MacBride commission, is about:
(A) The needs of developing countries

(B) Industrial growth

(C) Dizarmament and world peace

(D) Balance information flow

(E) International understanding

Choose the correct answer from the options given below :

& (A). (D). (E) only (2)  (A), (B), and (C) only

(3) (A (0). and (D) only (4) (A). (B). and (D) only
Afeafraf we fava v #@aE vd gue 9 0w (FR), uitg fweres FHwE, ek e E 27
(A)  fermmeiie 2o i sTETEal

(BJ s 5 r'-.f\ . f

(Cy  Tari e vt

(D) TAfEs gE TE@E

(E) == dm Haeg

e f2u o e | W HE 39 % SEA i
(1)  #a= (A), (D) 3 (B) (2) Faa (4), (B) 311 (C)
(3) =& (A), (C) 31t (D) (4) A= (A). (B) 3R (D)

[Question ID = 4917][Question Description = Q19_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19131]
2. 2 [Option ID = 19132]
3. 3 [Option ID = 19133]
4. 4 [Option ID = 19134]

13) Given below are two statements : One i1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A) : Those who receive the message and get themselves influenced by them in
the process, are designated as audience.
Reasonsz (R) : An individual or many., who listen. watch or read the messages are called

audience.



In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) iz NOT the correct explanation of (A)
(3 (A) 1= correct but (R) is not correct

(4 (A) 1s not correct but (R) 1s correct

Hr= 21wy T2 7w ¥ ;v STy (Assertion A)F Ed H fafma 2 & T 9% F0 (Reason R) &

=9 5
stfirra (A) A TR THIFE W & S o9 Wi ° 99 UeiEd w9 8, 39 amr Hfee
AT |

I FUE T AT 8, A9 F  FEeT ¥ | w9 39T I w1 =99 Fie

(1) (A 3 (R) 31 @@ 2 3fi (R). (A) 1 w8l = 3 |

) (A) R (R) F9 =F S R). (A) F T e a8 2
3 (M) T 2 SR (R) w2

@) (AT TE 2 = (R) TE R

[Question ID = 4918][Question Description = Q20_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19135]
2. 2 [Option ID = 19136]
3. 3 [Option ID = 19137]
4. 4 [Option ID = 19138]

16) A cum of money at compound interest doubles itself in 15 vears. It will become eight times

of 1tzelf in :
() 45 yvears (2) 48 years
(3) 54 years (4) 60 years

= fafrad g §t ofe 15 auf % wshafg = & g & ot 21| 97 3194 99 ¥ oS T e adt | |
E i

(1) 45=mid (2) 48=id
(3)  H4=mid (4) 60=9 |

[Question ID = 4919][Question Description = Q21_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19139]
2. 2 [Option ID = 19140]
3. 3 [Option ID = 19141]
4. 4 [Option ID = 19142]

17) The average age of three boys 12 25 years and thelr ages are in the proportion 3 : 5 : 7, the

age of the youngest boy is :
(1) 9 vears (2) 15 years
(3) 18 vears (4) 21 years

o T, e e sy 1) N S T . R DR e DO - . L S, 1, S o, M S ——



(1) 9 | (2) 1549
(3 18 31 (4) 2149

[Question ID = 4920][Question Description = Q22_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19143]
2. 2 [Option ID = 19144]
3. 3 [Option ID = 19145]
4. 4 [Option ID = 19146]

18) With an average speed of 50 km/hr, a train reaches its destination in time. If it goes with an
average speed of 40 km/hr, it 1= late by 24 minutes. The total distance travelled 1s :

(1) 30 km (2) 40 km

(3) 60 km 4) B0km

o oSt 50 TR e i itEs 1fa @ AT |em T W s 9T ° UEeAl 2 | 3 A7 40 R T

=1 71fs & ==t & 91 77 24 o2 <2 2 Sl 2 | OS] F o PR o w6 w2 7
(1) 30 fw.H. (2) 40 ..
(3) 60 .11, (4) 80 Fm.d.

[Question ID = 4921][Question Description = Q23_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19147]
2. 2 [Option ID = 19148]
3. 3 [Option ID = 19149]
4. 4 [Option ID = 19150]

19) " 1f the word EARTH be witten as QPMZS 1in coded form. how can HEART be written following

the same coding.

(1) SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

#W EARTH wsg =1 -9 § QPMZS feran man =1 &t 36 #z-wmn § HEART =1 % fordn ?

(1) SQPZM (2) SQMPZ
(3) SPQZM (4) SQPMZ

[Question ID = 4922][Question Description = Q24_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19151]
2. 2 [Option ID = 19152]
3. 3 [Option ID = 19153]
4. 4 [Option ID = 19154]

20) Complete the number series :
0, 6, 24, 60, 120, ......
(1) 180 (2) 300
(3) 210 (4) 240
TEAT-FH T
0. 6. 24, 60, 120, ......
(1) 180 (2) 300
(3) 210 4y 240

[Question ID = 4923][Question Description = Q25_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19155]



2. 2 [Option ID = 19156]
3. 3 [Option ID = 19157]
4. 4 [Option ID = 19158]

21) Sagarika 1s never seen reading any Mathematics book during the day time. Yet she scored

08% marks in Mathematics. Therefore she must be studyving during the night. “Which of
following means of knowledge 1s used in this argument?

(1) Upamana (analogy) (2) Pratyaksa (Perception)

(3) Anumana (inference) (4) Arthapatti (Implication)

“fe % wHg 9 @R i E f T Ted 5 e off T8 2 T, qunfe s6 98% 3% WTH BT A
=7 T | T vt &t | 5\ g § i A e e B 7

(1) FUHH (2) 7=y

(3)  wEA (4) weat

[Question ID = 4924][Question Description = Q26_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19159]
2. 2 [Option ID = 19160]
3. 3 [Option ID = 19161]
4. 4 [Option ID = 19162]

22) Which of the following Indian thought systems holds that universal relation in case of
inference (anumana) cannot be determined because there iz always room for doubt about the
unobserved cases?

(1) Buddhists (2) Nalyvayvikas
(3) Mimamsa (4) Lokayala

fefafas 2 @ #9 of 9ndm 29im ugfs 72 edt @ B agEe @ et aEdm g faifa 1@ e
ST Tkl 115 AATEA R Al § HiraaT i TASE g S Edl 8 7

(1) sig (2) H=mrE=

-

(3)  wmwEn (4) @rEFEd

[Question ID = 4925][Question Description = Q27_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19163]
2. 2 [Option ID = 19164]
3. 3 [Option ID = 19165]
4. 4 [Option ID = 19166]

23)  The statement ‘a sense organ that perceives a property alzo perceives the “propertvness” as

well as the absence of that property’ can be attributed to which of the following schools of
classical Indian Philosophy?

(1) Lokayala / Carvaka (2) Nyaya

(3 Buddhizm (4) Uttara mimarmsza

HuF - S sfeEm ned @ wenw wdl # 9 sfEa sueht quiafdar a9 suh srara w1 aege st 2
0 U YA 299 & R geiEE O Sign S gl 2
(1)  =rhme /= (2) =
(3 =g (4) =vR HimrEn
[Question ID = 4926][Question Description = Q28_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19167]
2. 2 [Option ID = 19168]

3. 3 [Option ID = 19169]
4. 4 [Option ID = 19170]

24) Which fallacy 1s committed in the following statement?

*“Wobody has even proved that immoral behaviour bv elected officiale erodes public moralitv.



Therefore we must conclude that such behavior does not erode public morality”.

(1 Appeal to Force (2) Appeal to Pity

(3) Appeal to Ignorance (4) Appeal to the People
SAUTeTEd Fo § H A1 Gealaw @F B 27 (HE F vE weie T4 e w6 99 e wataest
HATGF HIER FA-AfaHal 1 &0 HEl ¢ HeaEd 59 39 [N U UgEd & (6 36 E i SHaEr wh-

(1) =9 = = (2) =1 9@ F =
(3)  A9H =% 9ed (4) SHiEd  Fod

[Question ID = 4927][Question Description = Q29_GP_22NOV_S2_SHAAN]
1 [Option ID = 19171]
2 [Option ID = 19172]
3 [Option ID = 19173]
. 4 [Option ID = 19174]

A w N =

25) Given below are two statements :

Statement A: “All physicians whose licenses have been revoked are physicians ineligible to
practize”,

Statement B: “All physicans eligible to practise are physicians whose licenses are intail”.

Which of the following is true with regard to above two statements?

(1) Statement B is contrapositive of the statement A and these statements are not
logically equivalent.

(2) Statement B 1s contrapositive of the statement A and these two statements are
logically equivalent.

(3 Statement B 1s converse of the statement A and these two statements are not
logically equivalent.

(4) Statement B is obverse of the statement A and these two statements are not logically
equivalent.

For ‘31 A oft Taferens faaeft smmfaal feg = v £ 3 fafrem =+ 29 s #7

#oF w o ol fafeeas w1 fafwo = % fo gira 2 53t smmiaat s 2|

=7 21 F9F1 % Teed § eAifEa § F19 o %e Tem B |

(1)  =F 9, F9F 31 F fqaiEfad €9 & 9971 91 $YF Ti6F 32 o TAded T4 § |
(2) YA 9, FUE H B AOREGT TG 2 a9 A BT AT 38 HHGed |
(8) U A, FYF ¥ F Al TG 2 qUT IE FUF AAHF 32 H TGS T4l 7 |
(4) Y W, WYF T F UqUREtad 9 2 YT G YA qiide 38 o FAged 6§ |

[Question ID = 4928][Question Description = Q30_GP_22NOV_S2_SHAAN]
1 [Option ID = 19175]
2 [Option ID = 19176]
3 [Option ID = 19177]
4 [Option ID = 19178]

A W N -

26) With respect to Computer Virus, which one of the following statements is True?
(1) It 15 a kind of physical impurity which when present in the CPU causes it to

malfunction.

(2) It 1s a computer program that infects a computer and thereby sends unsolicited bulk
email.

(3) It 1= a computer program which coples itself to infect a computer without the
permission / knowledge of the user.

(4) It 1s an accumulation of dust on the hard disk causing it to malfunction.

FIL TTE F To-Y T HfeiiEd 8§ FF o Ry T 27
(1) == T% TR Fi o 300G 2 oFw dodg, J w2 A Tead i e 2
(2)  TE UF TR TN 2 A FOH R UIET HA 2 S 50 TEE SEEes 90k 0 Oa Al 2 |



HFEE] F AT 3H U9IET FA E

(4) I HAe gl i THEZ 7 A FE-T56h W wE il 2 e Fege i e S 6 g 2 |

[Question ID = 4929][Question Description = Q31_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19179]
2. 2 [Option ID = 19180]
3. 3 [Option ID = 19181]
4. 4 [Option ID = 19182]

27) Identify the correct order in which the following computer memories are ranked from largest

to smallest in terms of storage capacity
(A) Cache

(B) RAM

(C)  Hard Disk

(D) Register

Choose the correct answer from the options given below :
(1) (C). (B). (D), (A) @) (D), A, (B). (C)

(3) (B). (D). (C). (&) 4y (C). (B), (A). (D

Tfq-wosT i &Ha Fi 52 ° Tew 95 I T 312 Fg AN F Tel i TmaE |

(A)  HE

B) .

(©) =TS =
(D) T

419 f2v 7o faweat 9 0 OF I w1 =9 i

(1) (C). (B). (D). (A) (2y (D). (A). (B). (C)

(3) (B). (D). (C). (&) (4) (C). (B). (A). (D)
[Question ID = 4930][Question Description = Q32_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19183]

2. 2 [Option ID = 19184]

3. 3 [Option ID = 19185]
4. 4 [Option ID = 19186]

28) Given below are two statements :

Statement I: The largest decimal number that can be represented using a 7-bit binary

number 1s 128,

[ ¥ IREETT Rl ot Stk s - T g SR A Sa g TR S R ) SRt TS S T B R L T S R Tt e o e i o g W Tt S D et o T S
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is 7.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false
(4) Statement I 1s false but Statement II is true

FoH (I):  7-fa= =1 uam w9 5U wew ¥ Snes A 128 # |

Fo (1) . T =91 21-T=foe emefas qmm = 5w #6 % fog =gaan 7 oz $i seegsa 2

SRR FUE o AT °, A9 3 T e # g w3 == i
(1) FW IR a7 |

(2) w9 IR II3E s@eT 2 |

(3) oA ITe 2, s = 11 waes 7 |

(4) w5 B, wff waa [TaeT 2 |

[Question ID = 4931][Question Description = Q33_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19187]
2. 2 [Option ID = 19188]
3. 3 [Option ID = 19189]
4. 4 [Option ID = 19190]

29) Which of the following group of statements with respect to World Wide Web (WWW) is
correct?
(A) A web server 1s a software used to access and view content on the WWW.
(B) A web browser 1s a computer system that makes files available on the WWW.
(C) Tim Berners — Lee created the WWW.

(D) Mosaic was the first widely used web browser.

Chooze the correct statements from above :
(1) (A) and (B) only {(2) (C)and (D) only
(3) (B) and (C) only {(4) (A) and (D) only

WWW (I52 @133 99) & #ea-d § FH-%H 8 727 Tal 27



(A) o9 TR U Higeaq & A WWW W Uah® 311 iz 2 = oo ugaa w2l 2 |

(B) =@ WIS UF FEAA eH & 71 WWW T 39 5t 59 # |

(C) Tou sHd-<f 4 WWW 571 |

(D)  HTAE TR WEE SAE] WAE R S A ae wee 91|

= f2u T e 5 | R 39w = A
(1) == (A) 317 (B)

(3) A (B) #R (C)

(2)  =ad (C) =k (D)

(4) FEa (A) = (D)

[Question ID = 4932][Question Description = Q34_GP_22NOV_S2_SHAAN]

1. 1 [Option ID = 19191]
2. 2 [Option ID = 19192]
3. 3 [Option ID = 19193]
4. 4 [Option ID = 19194]

30) Match List T with List IT

ListI List IT
(Digital Initiatives in Higher Education) (Purpose)
(A) NAD (I' Reduce dependency on proprietary
software In educational institutions.
(B) NDL (I)' Learn varlous free and open source

(C) Spoken Tutorial

(D) FOSSEE

software all by oneself.

(ITT) Tssuance, storage, access and
verification of Academic Awards
namely degrees, mark-sheets etc,

(IV) Frame work of virtual repository of
learning resources with a single —
window search facility.

Choose the correct answer from the options given below :

1) (A)-ID), (B)-IV), (C)-ID), (D)-(TD)
@ (A-IV), B)-1D), (©)-@. (D)-ID
(3) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(4) (A)-(II). (B)-(I), (C)-(I1I), (D)-(IV)

FH-1 % T g1 1 e i
-1
T==oen § faies wma
(A) TAUEL
(B) TELU=E.
(C) TarT Zg=riga

(D) TUEATHTHEE

Hr fou U ferpedt ® | @R ST w0 WIS
1) (A)-(ID. (B)-(V). (C)-(ID), (D)-()

Ty FAY TN 7Y TITY Ay Ty /My 7 TT

=11
e
(O TEm-TEaE § W meEaE W A

FH Al E |

dAD) w1 # fafam @ sfi s |-
ATz Hrar 2 |

(1) Frla =, ST e, T5a AR Ais T
Fu -3, BreE-Tie seats = g

AV) T fast &= =i gfawr = @ w6 fads
%r\‘fl—. 15 = E:IW"\J T



N g R TR Koy NPT R Ry Ry Ay oLy

3 (A)-AV). (B)-ID, (C)-ID), (D)-(D)
@ (A-AD. (B)-(D). (C)-AID. (D)-(IV)

[Question ID = 4933][Question Description = Q35_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19195]
2. 2 [Option ID = 19196]
3. 3 [Option ID = 19197]
4. 4 [Option ID = 19198]

31) Ozone layer to become ozone hole. the concentration of ozone should be
(1) < 220 Dobson Unit (2) = 300 Dobson Unit
(3) < 320 Dobzon Unit (4) =400 Dobson Unit

HATAM WA F AAA (52 1 ufEidd 54 % &0 ArSE F1 5994 541 906 |

(1) < 290 =fq =%7% (2) <300 37T T
(3) =320 e 39 (4) =400 377 7978

[Question ID = 4934][Question Description = Q36_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19199]
2. 2 [Option ID = 19200]
3. 3 [Option ID = 19201]
4. 4 [Option ID = 19202]

32) The Virus responsible for disease COVID-19 is
(1) SARS — Cov-2 (2) TB- Cov-2
(3) SARS — Cov-1 (4) HaN-

Fias-19 F fow It fomm 2 -

(1) HHE -, - 2 (2) FEi-=E, -2
(3) =H-=FE. -1 (4) THIH>

[Question ID = 4935][Question Description = Q37_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19203]
2. 2 [Option ID = 19204]
3. 3 [Option ID = 19205]
4. 4 [Option ID = 19206]

33) Match List I with List II

ListI List IT
Air Quality Index Colour Code
(A 0-—30 Iy Yellow
(B) 101-200 (I) Red
(C) 201-300 (III) Green
(D) 301 —400 (IV) Orange

Choose the correct answer from the options given below :
(L (A)-(IID). (B)-(D). (O)-(ID). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV), (D)-dI)
(3) (A)-(II). (B)-(D). (C)-(IIL). (D)-(IV)
(4 (A)-(ID). (B)-(I). (C)-(AV). (D)-(I1D)

THi-1 % Ty gi-11 7 fiem i

-1 TE1-1I
(A) 0-50 I e
(B) 101-200 dI) =
(C) 201-300 (III) =1
(D) 301 -400 (IV) =

= T2 v fewedl § H BE 39 1 =5 i
(1) (A)-(IIT). (B)-(T). (C)-(ID). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)-(ID)
(3) (A)-(ID). (B)-(I). (C)-(I1I). (D)-(IV)



(4) (A)-(ID). (B)-(I). (C)-IV). (D)-(IIT)

[Question ID = 4936][Question Description = Q38_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19207]
2. 2 [Option ID = 19208]
3. 3 [Option ID = 19209]
4. 4 [Option ID = 19210]

34) The saltiness of the ocean water can be attributed to the minerals and salts deposited by the
various rivers that flow into it. However, rivers are not saline because :
(1 Salts get precipitated at the bottom
(2) Salts are absorbed by the plants into it
(3 River water in replenished by the rain
(4) Muds of the river neutralizes the =alt

(1) = qeEd | e w9 (2) ST TEUH AT F A B
(3) 7 e =l | i A S E (4) TH = M A0 F AT # EA E

[Question ID = 4937][Question Description = Q39_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19211]
2. 2 [Option ID = 19212]
3. 3 [Option ID = 19213]
4. 4 [Option ID = 19214]

35 -
) India’s maximum energy comes from :

(1) Hydroelectric Power Plant (2) Nuclear Power Plant

(3) Thermal Power Plant (4) Solar Power Plant
A | AT S o OEE R

(1)  wAfsret 9 (2) W fagd 9939
(3)  amfeEd T (4) i forga @

[Question ID = 4938][Question Description = Q40_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19215]
2. 2 [Option ID = 19216]
3. 3 [Option ID = 19217]
4. 4 [Option ID = 19218]

36) Under the rubric oriental learning programmes in India. The role of learner was considered

to be relatively more :

(1) Active (2) Passzive
(3) Neutral (4) Silent

G H, WA 29 AT HEw S A il i -aiaE w9 8 i

(1)  @rfsa At =t o (2) Tafsra et St of
(3) TZEY HT St o (4) w==— AE e ot

[Question ID = 4939][Question Description = Q41_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19219]
2. 2 [Option ID = 19220]
3. 3 [Option ID = 19221]
4. 4 [Option ID = 19222]

37) Which of the following features are indicative of the negative social rather than physical

aspects of environment?



(A)  Habitats in slums
(B) Conflict and clashes 1n groups
(C) Frustration and anxiety manifest in groups

(D)  Aggression and threats manifest in collective behaviour

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2)  (B}). and (C) only
(3) (B) and (D) only (4) (C)and (D) only
F=rifa o o FEA-H [Foea g=i % qita® 9 O AfGF 36 TRAeHS Qs U8 H Hhad 8¢

(A) ofe afm # aE-re
(B)  AE  EE T

(C)  @9El H Fa1 3R =ual The =l 7

(D) THE SIEEN H ATHREHAT A G@a T w4 8

H= 50 TU faweT § | TE 399 1 999 i
(1) a1 (A) 3 (B) (2) Fae (B) FHR (C)
(3) === (B) =1 (D) (4) Fae (C) 317 (D)

[Question ID = 4940][Question Description = Q42_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19223]
2. 2 [Option ID = 19224]
3. 3 [Option ID = 19225]
4. 4 [Option ID = 19226]

38) For continous professional development and self improvement every teacher is supposed to
atleast devote how many hours every vear?

(L) 20 hrs (2) 30 hrs
(3) 40 hrs (4) 50 hrs

T e T SR aneieRd & foe o faes i afs 9 g e 92 s e =i

(1) 2092 (2) 3082
(3) 40 9 4) 50

[Question ID = 4941][Question Description = Q43_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19227]
2. 2 [Option ID = 19228]
3. 3 [Option ID = 19229]
4. 4 [Option ID = 19230]

39) The central motivational goal as evident In personal success through demonstrating
competence according to social standards takes the form of a basic value called,

(1) Self — direction value (2) Hedonistie vlaue
(3) Achievement value (4) Power value

I AEESl % STET 3 F UETH F A OFed § T g SoRE ©sd § gegd 9o
Eﬁo? 7’:-'

1) e e @ FEE
(3)  TEfE wed (4) =i g7

[Question ID = 4942][Question Description = Q44_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19231]
2. 2 [Option ID = 19232]



3. 3 [Option ID = 19233]
4. 4 [Option ID = 19234]

40) Match List I with List II
List I List II
Stages of value development Descriptive features
(A) Stage I — Value collection (I) Provides predictability of human
behaviour
(B) Stage Il — Value assessment (I) = When there are gaps between
practised and preached values
(C) Stage III — Value clarification (III) Helps the individual learn to choose
and imbibe the values one cherishes
(D) Stage IV — Value consolidation (IV) These are acquired from the members
of the commumty
Choose the correct answer from the optlons given below :
(L) (A)-(IV), (B)-(II), (C)-(IT), (D)-(D)
(2) (A)-(I). (B)-(II), (C)-(III). (D)-(IV)
(3) (A)-(IT), (B)-(I). (C)-(IV). (D)-(I1T)
(4) (A)-(III). (B)-(IV). (C)-(D). (D)-(IT)
T=i-1 % Ty gi-I1 %71 fies Hifae
wei-1 11
(A) = - 1 - goF TmEm (I) TFF =20 H1 S 39 04 2 |
(B) = - II - 57 37 (IT) = =Fa8d 371 I94FeTa Aeal # 7w o |
(C) =7 - III - g7 Zuffam (II) =afFa = 9HdiEr gedi F =999 70 3w
foma™ # mEr A B |
(D) = - IV - g3 55FA (IV) 3% THM % "=el ° i fm = 2
“r f2u o famel 4 | w@E 3 W =9ae S
(1) (A)-(IV). (B)-(I1I). (C)-(1I). (D)-(I)
(2) (A)-(I). (B)-(1I), (C)-(11I). (D)-(IV)
(3) (A)-(IT), (B)-(T). (C)-(IV), (D)-(I1T)
(4) (A)-(ITD). (B)-(IV), (C)-(I), (D)-(II)

[Question ID = 4943][Question Description = Q45_GP_22NOV_S2_SHAAN]
1. 1 [Option ID = 19235]
2. 2 [Option ID = 19236]
3. 3 [Option ID = 19237]
4. 4 [Option ID = 19238]

Topic:- GP_Set6_C

1)

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and



tanner in chemical technologyv. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist, the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

(B I 11 B R 1 T e A 15 G s e 3 T | L

T i foren @ 9o T FHE SN TH F 9AFE F Faer-FY foq 41| [Hadl F1 S9E 40 e
3 foreart & e w1 A g e i sEia e o7 Ak J WO 99w gedas w85 |
FRAC F S HEAF 9O % YA AEEE H AHE 99 g died a9 Tgae o1 aies v e
T THNGHR F AN | IF TR A A T 50 qHadi ® 49 H Gioad s H GEEasE e e |
FIATH § HAMG 7 F1 04 FETH F GUS1 FOa w5 | g el i wh Sge g seiaal 5
e To= =i 758w @™ = g F00 ® 9% F o | 3T SRl 3E0 | HE T S HE H e
T gUF FH H WO TE-E9 ° TR F S H AR w2 e T e e g gt e
TN R AR F T 3 SR 9% W I G § Srdd W@ T | T Se she ®, Wen w6 oA
STHAHERT F TEaE ToE B0 G S Gl 7 | 9feam % T om0 sdtette w6 5§ 92 e
mﬁﬂﬁﬂwlmﬁm?ﬁmﬁ?mwm?%ﬂwmﬁﬁmq
T e fsET B e g TS Seae J mEeiien e Ava TE T8 | SEr w gEETE ¥ e g6
1 THEA WO O FEA AETEE 7 | Umaw 3 e * &= em 9% |l dEw # aea wJhae
El AT | FEANSH UR ko9 H TE G994 B T i 98 Usel ¥ UHl 9 A BH % b =Han s{i

Inequalization due to education could be addressed by :

(&)

(B)

(C)

(D)

Promoting the distinction between theory and practise
Challenging the watertight distinction between training and education
Qualitative transformation of technology

Ushering in an age of specialization based on dichotomy between training and

education

Choose the correct answer from the options given below :

(1)

(3)

(A) and (B) only (2)  (A), and (D) only

(B) and (C) only (4)  (C) and (D) only

o161 § AEEHIE 1 TEIGE B

(A)

(B)

(©)

(D)

(1)

firgra 3iR ==as = fasz =i gemEn 2 |

afian affy v = o= % steaeq fawg =i S 397
TRt =1 AT T |

Tifsreqor it forer o fGuTeE % wnaR ww fEesar i o1 s w1 |

fau o fwedi § O A9 SO F 999 it

e (A) H (B) (2) e (A) =W (D)



(3)

Fae (B) 311 (C) (4) Faa (C) =T (D)

[Question ID = 4944][Question Description = Q46_GP_22NOV_S2_SHAAN]
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2)

1 [Option ID = 19239]
2 [Option ID = 19240]
3 [Option ID = 19241]
4 [Option ID = 19242]

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the skills of labour and the secrets of
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master crafteman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between tralning and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.

TE F AN § 9uE W FE SN TH F REE H mGEE-FY 5 T | e # s a9 S
ST foeTar & TEeE F1 FEA i ga 9@ B A S 97 aiF 9 S0 99 F geaad 9 0 |
T I ATE WENAF T F TUEA HEEE F SEE 3 g diea 5F a9 s v e
T THNGFR F AEAN T I R (A1 SN T A0 GHad & 49 ° gl st w1 SHEsE o o |
FIeTat § FfC I 0 i wEe 8 fguns wei w1 oman | gen el wi s s g aeia §
et T *fi T @em =i UF FI00 # a9 0 o 91 398 B SE | HE H A ° S FE w5 i
H UUF B WO A TH-EF H UE % stess SR w2 s o e e | atea e
T SR AfiER F U S R S 9 SR A1 8 atad W | 3EE 5 stae |, @ #i A
TR F FANGF T B0 T S Gl 7 | Ufeam F T g 6 ST Fi § 9w GEh

Ao =9 | S I T | TR F OEAEE Seidi & R0 Fe [Wieaai & fore, wioae =i HEr
T U TS 37 AT 5T TS Seae § @RI e W9A A T8 T | WEnl R g ¥ S a6

1 THEA TR | FS AETTE BT | T S e % o 3m 79 el algn s Aea
F T | e E UR F AT § TE I9d w7 T EiE 98 e ¥ UHl 9O 9 BH ¥ wny 9Han 3R
STARTEHT, TER 31 Wifastage, g5 T ®ia wh & 99E W TF T 91 J 79 5 9= gan 59 |

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Ass

ertion (A) : Education may be considered to be an instrument of inequalisation.

Reasons (R) : The separation of work from knowledge was operationalized by separation

of training from education.

In the light of the above statements. choose the most appropriate answer from the options



given below :

(1)
(2)
(3)
(4

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 12 not correct but (R) 1s correct

= 71 wom fow o . wE sfiwue (Assertion A) * w9 # foafem 2 91 380 3% Fn0 (Reason R) &

AfERT (A) : forear =1 STEEEE WS A A1 WA 2
FRT (R) : forem | wfwreror =t 99w F FE FFE F 9UF = T

I FYE F AE 9, A9 #w e fTwe § @ wed SugT I A =9 Fifa

D) (&) 3 (R) F wE F S (R), (A) T wE ==

2y (A) # (R) 2T e 2wt (R). (A) = T8l 5w 79 2 |

(3)  (A)TH 2 @t R) =8 5 2

4) (A =F FE 2 | (R) T8 2

[Question ID = 4945][Question Description = Q47_GP_22NOV_S2_SHAAN]
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3)

1 [Option ID = 19243]
2 [Option ID = 19244]
3 [Option ID = 19245]
4 [Option ID = 19246]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the =kills of labour and the secrets of
craftemanship to the younger generation of the toilling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalieations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftaman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historan, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Given below are two statements :

Statement I: Training 1= intended to transfer the skills of labour and s=ecretz of crafts

manship to people who lack it.

Statement IT: Education is intended to pass on the abstracted generalizations of soclal

In

practize to those who lack it.

the light of the above statements. choose the most appropriate answer from the options

given below:

(1)
(2)
(3)
(4)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement II 1s correct

TG A R

FoH (1) USTET F AT 4 * Fwe Hi el % el #5139 S w e w5 e

THH FEE 2 |

Fo (ID) : T = =79 |TITS WA F UUE WS B 3 A R et we @ e e

THH FHE E |

IUT FH F AT 4, A B fawedt § @ e 3uges I R =9 fifa

(1) w1 39 a2 |

(2)  wya I3k I3 o 2 |

(3)

4)

Fod [ T3] B, S w93 117 2 |

FoA 17T 2, o 99 11381 2 |

[Question ID = 4946][Question Description = Q48_GP_22NOV_S2_SHAAN]

A W N -

4)

1 [Option ID = 19247]
2 [Option ID = 19248]
3 [Option ID = 19249]
4 [Option ID = 19250]

Read the following passage carefully and answer the gquestions that follow

The separation of work from knowledge was operationalised by separation of training from



edaucarion. ine [ormer was lntendaea to transier tne skills ol lapour and tne secrets ol
craftamanship to the vounger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalizations of social practice as gems of knowledege to the yvounger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the younger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the excluszion of the toilets from the
domain of knowledge by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inegualisation in history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
gqualitative transformation of technologyv, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurgy and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became posszible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historian, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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The author of the passage argues for :

(A)
(B)
(©)
(D)

Classless zoclety
Technocratic society
Interrelation between theory and practice

Presentation of traditional crafts

Choose the correct answer from the options given below :

(1)
(3)

(A) and (D) only (2) (A} and (C) only
(B) and (D) only (4) (C)and (D) only

TR F SEE T FRYA A B 7
(A)  =EEE T

(B)  dATRI-aEHT TETH

(C) Toga =R =R & ueg wiqdey
(D) et e #i T

T 39T =1 999 0 -



(1)  hae (A) #HR (D) (2) HaE (A) 3R (C)

(3) =« (B) #iT (D) (4) =Ha= (C) 311 (D)

[Question ID = 4947][Question Description = Q49_GP_22NOV_S2_SHAAN]

A w N =

3)

1 [Option ID = 19251]
2 [Option ID = 19252]
3 [Option ID = 19253]
4 [Option ID = 19254]

Read the following passage carefully and answer the guestions that follow

The separation of work from knowledge was operationalised by separation of training from
education. The former was intended to transfer the =kills of labour and the secrets of
craftemanship to the younger generation of the tolling poor so as to enable them to produce
value from the sweat of their labour. The latter was intended to pass on the abstracted
generalisations of social practice as gems of knowledge to the younger generations of the
propertied class so as to enable them to wield power through a monopoly of such knowledge
and appropriate surpluses generated by the labour of the former. The essentially integrated
task of transferring the accumulated social experience of mankind to the yvounger generation
was thus fractured. The continuum of the primitive stage was transformed into the
dichotomy of class socities. The world of the master craftaman and his disciples was a world
apart from the protected cloisters where in the wise debated on the number of angles that
could comfortably sit on the point of the needle. This tradition of separating work from
knowledge and work from power has been the basis for the exclusion of the toilets from the
domain of knowledee by denying education to them, and from the domain of power by closing
its door to the uneducated. Viewed thus. education may be considered to be the most potent
instrument of inequalisation In history. This distortion way partially corrected in the
developed countries of the west under the impact of the Industrial Revolution. With
qualitative transformation of technology, it was no longer possible for the skilled craftsman
to participate in production without transcending the boundaries of training and moving into
the work of education. The blacksmith was to be rooted in the science of metallurey and
tanner in chemical technology. The hitherto unsurmountable wall between training and
education had to be breached in the new situation. It became possible to do so in the
traditionally virgin ethos of the lands across the Atlantic wherever the tanner and the
historan, the blacksmith and the physicist. the tiller and the poet were put together in the
wilderness of the wildwest to fashion their common destiny.
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Assign a suitable title to the paragraph

(1)
(2)
(3)
4

Theory without practice infertile, practical benefit of theory is in vain
Theory and practical. complement each others
Dichotomy of theory and practice

Theory lends support to practice

RS 1 I T w2

(1)

=gEn % fa Taga Fess 2, faga = fo sgeamn =19 2)



(2)  TogA 3R =I9ER TH-3R F TF F |
(3)  Tug S ==en F1 Tur)
(4)  TugmE @ =gaEw w1 w9 THea 2

[Question ID = 4948][Question Description = Q50_GP_22NOV_S2_SHAAN]
1 [Option ID = 19255]
2 [Option ID = 19256]
3 [Option ID = 19257]
4 [Option ID = 19258]

A W N -

Topic:- 2 New Political Science SH2_A

1) ‘Imperialism is the highest stage of capitalism’'. Whose statement is this?

"ARSAAIG YSiidIg ®I Icdd TRVl & ' A8 [pIdT el & ?
[Question ID = 6410][Question Description = S4_qSNz_PG_PLS_QO01]

V | Lenin/dt. w. aforer [Option ID = 25103]
Joseph Stalin/sh¥w Jeifersr [Option ID = 25104]
Karl Marx/@ref ama=f [Option ID = 25105]
Georg Lukacs/smst gart [Option ID = 25106]

A WN =

2) Who gave the concept of ‘Gaia’?
' a1zar & sraenzun fpwor & 3 ?

[Question ID = 6411][Question Description = S4_qSNz_PG_PLS_Q02]
1. Rachel Carson/9w @=fet [Option ID = 25107]

2. Vandana Shiva/dasgor férar [Option ID = 25108]

3. James Lovelock/3w craciias [Option ID = 25109]

4. Fritjof Capra/ftgesita @zt [Option ID = 25110]

3) Will Kymlica is the pioneer of which rights?

ferer fepaferent fopat siferpRI i sEca & ?
[Question ID = 6412][Question Description = S4_qSNz_PG_PLS_Q03]

1. Political Rights/3mcmfifere sifeipre [Option ID = 25111]
2. Legal Rights/@ropft siféipr [Option ID = 25112]

3. Natural Rights/araffa aiférerz [Option ID = 25113]
4. Cultural Rights/1rafe® sifepr [Option ID = 25114]

4) Who amongst the following is a positive liberalist?

forgoiferRad 3 A Dol ADRICAD ISRAIST 3 ?

[Question ID = 6413][Question Description = S4_qSNz_PG_PLS_Q04]
1. H. J. Laski/wa. 3t diizdht [Option ID = 25115]

2. Milton Friedman/fccotr wisdor [Option ID = 25116]

3. Robert Nozick/3meé siifStas [Option ID = 25117]

4. Herbert Spencer/sad = [Option ID = 25118]

5) Who has given the concept of Fiduciary Trust?

foratferRaa & A vl ferart nfdfa w1 (SRR ) & sraemrvn yeret &t 3 ?

[Question ID = 6414][Question Description = S4_qSNz_PG_PLS_QO05]
1. Hobbes/zfear [Option ID = 25119]

2. Locke/eiw [Option ID = 25120]

3. John Rawls/sifer 3fac=1 [Option ID = 25121]

4. John Stuart Mill/sifer 3g3ié firer [Option ID = 25122]

6) Karl Popper attacked the historicism of:

DIcl Uiuz of b1l MfersiRmar &t sicilaet &t 3 ?
[Question ID = 6415][Question Description = S4_qSNz_PG_PLS_Q06]
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ID Option ID ID Option ID ID Option ID

4899 19062 6410 25103 6460 25306
4900 19063 6411 25109 6461 25309
4901 19068 6412 25114 6462 25312
4902 19072 6413 25115 6463 25317
4903 19075 6414 25120 6464 25319
4904 19080 6415 25124 6465 25323
4905 19085 6416 25129 6466 25329
4906 19087 6417 25132 6467 25333
4907 19094 6418 25137 6468 25336
4908 19095 6419 25140 6469 25339
4909 19100 6420 25144 6470 25345
4910 19105 6421 25150 6471 25349
4911 19109 6422 25153 6472 25353
4912 19114 6423 25157 6473 25355
4913 19115 6424 25162 6474 25360
4914 19121 6425 25165 6475 25365
4915 19123 6426 25168 6476 25368
4916 19127 6427 25173 6477 25373
4917 19131 6428 25176 6478 25377
4918 19135 6429 25179 6479 25380
4919 19139 6430 25184 6480 25385
4920 19144 6431 25188 6481 25389
4921 19150 6432 25193 6482 25393
4922 19154 6433 25196 6483 25397
4923 19157 6434 25201 6484 25400
4924 19162 6435 25206 6485 25405
4925 19166 6436 25210 6486 25409
4926 19168 6437 25212 6487 25411
4927 19173 6438 25216 6488 25416
4928 19176 6439 % 6489 25420
4929 19181 6440 25224 6490 25426
4930 19186 6441 25227 6491 25430
4931 19190 6442 25234 6492 25431
4932 19192 6443 25236 6493 25436
4933 19195 6444 25241 6494 25440
4934 19199 6445 25243 6495 25444
4935 19203 6446 25250 6496 25450
4936 19208 6447 25253 6497 25451
4937 19213 6448 25256 6498 25455
4938 19217 6449 25260 6499 25461
4939 19219 6450 25265 6500 25465
4940 19225 6451 25267 6501 25467
4941 19230 6452 25274 6502 25473
4942 19233 6453 25276 6503 25475
4943 19235 6454 25282 6504 25480
4944 19241 6455 25285 6505 25485
4945 19243 6456 25288 6506 25489
4946 19247 6457 25294 6507 25494
4947 19252 6458 25297 6508 25495
4948 19255 6459 25299 6509 25500

Note :- Correct Option ID '%' means Marks awarded to all who appeared ; Page 45

'&" Question not considered for evaluation



